Crypto Puzzles - Medium

1 ) Why is it hard to play cards in the jungle?
Clues:1=t,3=e
1-2-3-4-3 5-4-3 1-6-6 7-5-8-9 10-2-3-3-1-5-2-11

2) Why did the tomato blush?
Clues:4=a,7 =i
15-5-12-4-9-6-5 7-8 6-4-2 8-10-5 6-4-11-4-3 3-13-5-6-6-7-14-1

3) Why didn't the skeleton cross the road?
Clues:8=a,11=u
12-2-10-8-11-6-2 7-2 4-9-4-3'5 7-8-1-2 5-7-2 13-11-5-6

4) Why did the boy keep seeing talking animals?
Clues:13=¢e,7=n
9-13  5-11-3 9-11-6-8-7-1 10-8-3-7-13-4 3-12-13-2-2-3

5) What happened when the dog slept under the car?
Clues:10=¢,12 =x
16-10 3-9-5-10 6-13 9-8-4-2 11-10-12-7 14-9-15-11-8-11-1
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